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8. THFITERT TN TR f3Uah! ETEUE AB i ailTeeh ﬁ@?@'&[ | Draw the perpendicular bisector
of the line segment AB using compass. [1]

A B



2. TegushT aTes guHT=R a1 T e 717 Q{%SIH\I (Write whether the given lines are
parallel or perpendicular. [2]

3. icien! T3eT o ST | Draw a figure of a cone. [1]

¥. T SIST GHE SITe% W1 HHTT-R HUh! TqHSIeTs o Wi+ 2 What is the name of the
quadrilateral with only one pair of opposite sides are parallel? [1]
(37) FHMT-T %l?j‘lix_rf (Parallelogram)
(3M) GHH %@ﬂ)\_ﬂ (Trapezium)
() 3ATId (Rectangle)
(‘st) Tt (Square)

4. TR &. 15 T AT FHaTehaies foh | 3ct TeeianTs 50 &fuatent e iU | et i wfuat
fopat 913 ? Rahul bought three pencils at the rate of Rs.15 each. He gave a 50 rupees

note to the shopkeeper to pay the cost. How much money will he get back? [2]



&. 81@3"'&4@551%[@? What is the square root of 8§17 [1]

v, B T | Simplify. [2]
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¢. feguan) WWH@\@WT BT T@%ﬁ'{{l Convert the following fractions into

decimal number. [2]
- 64 - 567
(30 100 () 1000

%. 24 T36 ! HETW GHTIA (4. §.) e | Find Highest Common Factor (HCF) of 24
and 36. [2]



% 0. feguept strraert uftfufa T &mper ﬁwwﬁm Find the perimeter and area of the given

rectangle. [2]
8cm
g
() dfefafd
(@) &R
2. 1\7IUI;|C|">€1€1|$s HTdTgshehl ®9HT TieTe ¥ | Write the product in indices. [2]
3 3xX3x3x%x3 @M x3 X x°
%R. AC I STHT SEEITS =T (7|1||3:|0€‘|P|\| Find the total length of AC. [2]
A X cm B 3x cm C




93, dT faguam Wﬁ%ﬂﬁﬁ%@?ﬁ%% <, >dl =T|'@Té@l\;%ﬁ'€[l Write the following

sentences using the correct trichotomy signs <, > or =. [2]
(3T) (X +5) TRT y BT D e,
yislessthan (X +5). . ...oooviiiiiiiint.
() -6 W—T-1 FATD | oo,
-1 is greaterthan -6. ......................oelll.

2%, U8 A = {15 T [UTEUEEE )} T, THE A TS o[0T [aIferT oieTerd | If set A = { Factors
of 15}, then write set A using listing method. [1]

. %!r_g’ M3, -2) TS SRl I U9t ﬂﬂﬁﬁl Plot the point M(3, -2) in the given graph
paper. [1]
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